AT AR
MGP% % (212~2100)

HEHE
BT4% (mm) 12 [ 16 [20 |25 [ 32 [ 40 | 50 | 63 | 80 [100
FERI BRI
A AR 5,
_ SRR 1.0MPa
L AR E Sy 0.12MPa 0.1MPa
o _‘,.1: PR T AR -10~60°C (H:%:45)
L B RRIE Rt
B 5 S 50~500mm/s 50~400mm/s
K W Bl AR/ ERhR  eR R R AR
" VA& £0.07° | +0.06° £0.05° | +0.04° | +0.03°
Y N
< BUN, BTG, RS ARSI iV P N | . . . . B B
- it A B R SRR | e s iy | BRAR +0.05 +0.04 +0.03 +0.03 +0.03
- BRI - S R R 0.01°
« RIS « IR (L AT o JiS55 S =
TRAZ "’ mm
ZErh et
— BEOR M5x0.8 | s | % | %
RMERTHIE TS B VT T ST SOVGa2.
TT 5555451
MGP -[50 1) i 16, 178 50, WaHK
Effi%S: MGPM16-50Z
BRI o 7 A
M| i L 2) pifiit®: 25, 17H%: 800, ERiMAK, FECHLMEIFSS
- . Effi%S: MGPL25-300Z AL
Rl e D-M9BL 2 IR
A | mimnskaok e ‘
1792 /WM TFF R 1R
) HPETT%
fﬁnff? FRHEAT L mm) Ak T B B
EMES/EHEH 244 244, 3Z%NPN
firfz : e 12 10,20,30,40,50,75,100,125, MGP12-Z-PS
(mm) i e 16 | 150,175,200,250 MGP16-Z-PS
12 MGP12-Z-PS SEIER o MGP20-Z-PS
16 MGP16-Z-PS . 20,30,40,50,75,100,125,150, ~ | ~ :
5 MGaP20.7PS giﬁ:y 25 | 175.200.250.300,350,400 D-A93(V)L | D-M9B(V)L | D-MIN(V)L :
25 MGP25-Z-PS EEAE oW MGP80-Z-PS
32 MGP32-Z-PS ks =063, | 255075100,125,150,175, MGP100-2-PS
80.100| 200.250,300,350,400
(ﬁnﬁjf) FE GES L B R A AL
40 | MGP40-Z-PS pry— HEEFF R B NRFATIER (mm)
1 paEs
gg MGP50-Z-PS EIERT HEPEFF RN 012 | 616 | 620 | 025 | 032 | 040 | 050 | 063 | 080 @100
MGP6.2-£S HHIEA 7 il 5
80 MGP80-Z-PS BB D-A90 5 1070 0
100 MGP100-Z-PS o
7 5
D-A90V > =
1 5
D-M9OV 5 z
1 5iE1) | 5
DI 2 07| 0
1) R T 3% 5 ER B i 75 - o] W 7 Omm e i G-
=AHEE T (N-m)
5% , A7 HE (mm)
(mm) RIS 0T 20 [ 25 [ 30 [ 40 | 50 | 75 [ 100 [ 125 | 150 | 175 | 200 | 250 | 300 | 350 | 400
12 MGPM 039 [032] — [o027]024] 021] 043] 036] 031] 027] 0.24] 0.22] 0.19] — | — | —
MGPL/A | 061045 — [035] 058 050| 0.37] 0.29] 0.24] 0.20] 0.18] 0.16] 0.12] — | — | —
16 MGPM 069 | 058 — o049 043] 038] 0.69] 0.58] 0.50] 0.44] 0.40] 0.36] 030] — | — | —
MGPL/A | 099 | 074 | — | 059|099 | 086] 0.65] 052| 0.43] 0.37] 0.32] 0.28] 023 — | — | —
N 20 MGPM — [105] — [o093 083 075] 1.88] 1.63] 1.44] 1.28] 1.16] 1.06] 0.90] 0.78] 0.69] 0.62
L T(N'm) MGPL/A | — [126]| — [1.03]217 | 1.04] 152 1.25| 1.34[ 1.17| 1.03[ 0.93] 0.76] 0.65 0.56] 0.49
A\ A\ 25 MGPM . 1.76 — 1.55 | 1.38 1.25| 2.96| 2.57| 2.26| 2.02( 1.83| 1.67| 1.42| 1.24| 1.09| 0.98
- } I MGPL/A — 2.11 — 1.75 | 3.37 | 3.02| 2.38( 1.97| 2.05| 1.78| 1.58| 1.41| 1.16| 0.98| 0.85| 0.74
\,/ N \,/ a2 MGPM — [ = [635] — | — | 5.13] 5.69] 4.97| 4.42| 3.98] 361| 331 2.84] 2.48] 2.20] 1.98
T MGPL/A | — | — [ 595 — | — | 489 511 451 6.34] 5.79] 5.33] 4.93] 4.29| 378 3.38] 3.04
40 MGPM — [ — [ 700] — | — | 566] 6.27] 5.48] 4.87| 4.38] 3.98] 365 3.13] 2.74| 2.43] 2.19
MGPL/A | — | — [ 655 — | — [ 5.39] 5.62| 4.96| 6.98| 6.38] 5.87| 5.43| 4.72| 4.16] 3.71| 3.35
50 MGPM — [ = [0 | — | — [10.8 [12.0 [106 | 9.50] 8.60] 7.86] 7.24| 6.24] 5.49] 4.90] 4.43
MGPL/A — — 9.17| — — 7.62| 9.83| 8.74(11.6 | 10.7 9.83| 9.12| 7.95( 7.02| 6.26| 5.63
o MGPM — | = T1a7 | = — T121 [135 [11.9 [107 | 969] 8.86] 8.16] 7.04] 6.19] 5.52] 4.99
MGPL/A | — | — [102 [ — [ — [ 848|110 | 9.74[13.0 [11.9 [11.0 [102 | 8.84| 7.80| 6.94| 6.24
80 MGPM — [ = J2t9 [ = [ — 186 |22.9 [205 [186 [17.0 [156 [14.5 [12.6 [11.2 [10.0 | 9.11
MGPL/A . — |15.1 —_ — |23.3 |22.7 |20.6 (189 |17.3 |[16.0 |14.8 [129 |[11.3 [10.0 8.94
100 MGPM — | — [s88 | — | — [335 [37.5 |33.8 [30.9 [28.4 [262 [24.4 [21.4 [19.1 [17.2 [157
MGPL/A | — | — Jeza | — | — 306 |37.9 |34.6 [31.8 [29.3 [27.2 [25.3 [22.1 [195 [17.3 [155

B H1:30/8/2012




FHATESHSE: MGPZRJ
SMERTE ()

MR~ ] + &
Z WA XX #RF  TEERSE
WB oXA 17 1 6 ) -
— ‘ o - ©
— ‘ c |d :
H'E]II Fgn Y oD -
= O < = e
= a2 <
# - - 3 = (mm)
0 s = 7
< 58 € ‘ (ﬁ;ﬁj;) a|blc|dl|e
4 .l
< 12 441741372 6.2
L j 16 44174|37|25|6.7|
XX i 20 54184452878
4 x NN 7], 4 x MM ¥ ML
XX Z WA 4 x gOA AL L XX 3
x 4 x gOB VLI OL
e ] Hf
N4 Q E oL &
i [ I | = ol
D =0
=
o o X
= o) < = : = 1 O m|a| 2
| 3 & a s x| D 3 g4 S| ST
S B o LN e
— B .+_'_l
{ oy i g
c 9_ D,\ H
& ] e e H
- Q GA |GB %I:’B T Al
oXA H7 i 6 s PA + /7F2 2xP (2%?(;) J K N
K o H7 IR
FA G \PBAA H7 A
FB
C + ﬁﬁ @ <7
A+ 172
212, 216
MGPM, MGPL, MGPA % [EFR~%& (mm)
4 e pa— P
L FrEATHE (mm) B|C |DA|FA(FB| G [GA|[GB| H |HA| J | K| L MM ML NN OA (OB |OL "
(mm) Nil TN | TF
12 10,20,30,40,50,75,100 |42 |29 6| 7 6 |26 (10 |7 58 |[M4| 13 | 13 | 18 [M4x 0.7| 10 [M4x0.7/4.3 |8 45|M5x0.8] — —
16 125,150,175,200,250 |46 |33 8| 7 | 6 |30|10.5/ 75|64 |[M4| 15| 15|22 [M5x0.8| 12 [M5x0.8/4.3|8 |[4.5|M5x0.8] — —
20 20,30,40,50,75,100,125,150 |53 [37 | 10| 8 | 8 |36 |11.5/9 |83 |M5| 18 |18 |24 [M5x0.8| 13 |[M5x0.8/5.4|9.5|5.5| Rc1/8 |[NPT1/8| G1/8
25 175,200,250,300,350,400 |53.5|37.5| 10 | 9 | 7 | 42 |[11.5/10 |93 [M5|21 | 21 | 30 [M6x 1.0| 15 [M6x 1.0{5.4]|9.5|5.5| Rc1/8 |NPT1/8| G1/8
HLA% WA WB
(mm) PA|PB|PW| Q | R | S | T | U |VA|VB/ 30st [a30s |@0st | @:20st | 300st| 30st |@i0st | weiost | @uzost | 300st| X [ XA [XB| YY [YL| Z
ST | 100l | 200stulF | 300stbiF | Wb | sblF [100usF| 200stulE | 300stE | ok
12 13 | 8 | 18|14 [48 |22 |56 |41 |50 |37 | 20 40 110 200 — | 15 25 60 105 — | 28| 83 |[35|M5x0.8/10| 5
16 14510 | 19|16 |54 | 25|62 | 46 | 56 | 38 | 24 44 110 200 — | 17 27 60 105 — |24 | 3 |[35|M5x0.8/ 10| 5
20 13.5[10.5{ 25 | 18 |70 |30 | 81 [ 54 | 72 |44 | 24 44 120 200 |300| 29 39 77 117 | 167 |28 | 3 [3.5|M6x1.0| 12 | 17
25 12.5(13.5/ 30 | 26 | 78 | 38 | 91 | 64 | 82 | 50 | 24 44 120 200 |[300| 29 39 77 117 | 167 [ 34| 4 |[45|M6x1.0] 12 | 17
MGPL (5k##%)
MGPM (i&zhihi&) A, DB, E R~ (mm) MGPA (S5 E3k4h%) A, DB, E R~f (mm)
4% A E Fr A E
(mm) 50st | @i0s | @iioost | 200st |DB[TB0st | mis0st | @ifoost | 200st (mm) 30st | @i%0s | @Hoost | 200st |DB [ 30st | @s0st | @Hoost | 200st
SbUF | 100ssF | 200st | bk SOUF | 100s6F | 200s6lF | yE SO | 100ssF | 200stt | bk SOF | 100s6F | 200stlF | ik
12 42 60.5 82.5 82.5 8 0 18.5 40.5 40.5 12 43 55 84.5 84.5 6 1 13 42.5 42.5
16 46 64.5 92.5 925 | 10 0 18.5 46.5 46.5 16 49 65 94.5 94.5 8 B8 19 48.5 48.5
20 53 775 775 [110 12 0 24.5 24.5 57 20 59 76 100 117.5 |10 6 23 47 64.5
25 53.5 77.5 77.5 [109.5 | 16 0 24 24 56 25 65.5 81.5 | 100.5 [117.5 |18 12 28 47 64

1-1



FHATESHSE: MGPZRJ
SMERTE ()

OXA H7 T XL XX 8 R T R E
Z WA ) ) ) ]
WB |
| o - ©
/I H ' '
7 | ) -
_ NEA < c |d
il
e — [
e} o | BT
Mo 25
i : b= (mm)
{i<’ & ' it a b c d e
x = i (mm) i
1242 fW 32 6.5/10.5| 55|35 95
| 40 6.5/10.5| 55| 4 |11
L 50 8.5|13.5| 7.5/ 451|135
o 63 11 |17.8|]10 |7 [18.5
XX #
4xYYIE YL ) ) ) )
4 x NN i# 7L 4 x MM 7% ML
XX Z WA 4 x 0OA jii{l, L XX
/4 x 00B JiILTEOL
i ©u)] :
OO -
A &
g p-! g P
> - > B%
e g a x| 53 =55 T
E\Hé
= =
o <
— + x
m | ] }
PR ok
S} gde2 &z
GA |GB :2x P TIEHY
. 2xP
PA + 1718 J K
- 3k oXA 7 I XL
—— FA FB| C+11ft () G —
oXA H7 IR P
— B+ 17f¢ E
A+ 17
MGPM, MGPL, MGPA X[EFR~%& (mm)
W |y e 7
7 2 (mm B|C|DA|FA(FB| G |[GA|GB| H |HA|J [ K| L MM ML NN OA|(OB| OL
i FRAEATHE (mm) Nil TN TF
32 25,50,75 59.5|37.5] 14 | 10 | 12 | 48 |12 9 [112|M6 |24 | 24 | 34 IM8x 1.25| 20 [IM8x 1.25/6.7 | 11 | 7.5| Rc1/8 NPT1/8 G1/8
40 100,125,150 |66 [44 | 14|10 |12 | 54 [15 [12 |120|M6 | 27 | 27 | 40 [M8 x 1.25| 20 [IM8x 1.25|6.7 | 11 | 7.5| Rc1/8 | NPT1/8 G1/8
50 175,200,250 |72 [44 |18 |12 |16 |64 |15 [12 [148/M8| 32 |32 | 46 [M10x1.5| 22 [M10x1.5/86 |14 |9 Rc1/4 | NPT1/4 G1/4
63 300,350,400 |77 |49 | 18| 12 | 16 | 78 |15.5[13.5/162|M10| 39 | 39 | 58 |[M10 x 1.5] 22 [M10x1.5/8.6 | — | 9 Rc1/4 | NPT1/4 | G1/4
5% WA WB
(mm) PA(PB/PW| Q | R | S | T | U|VA|VB [5st[uiss |ai0s |#wi0s |300st|25st|aizss |@iio0s |es200s [300st| X | XA [XB|XC|XL| YY YL| Z
D) 100 stabLT | 200 stabl T | 300 stabhF| P SREA 100 stabl T | 200 stalb T | 300 stefbT | bhL
32 6.5/116 |35.5/ 30 | 96| 44 |[110| 78| 98| 63|24| 48 124 | 200 | 300|33| 45 83 121 [171]42 | 4 |[45| 3 6 [M8x1.25| 16 | 21
40 13 [18 [39.5] 30 [104| 44 [118| 86[106| 72|24 | 48 124 | 200 [ 300 (34| 46 84 122 |[172|50 | 4 |[45| 3 | 6 [M8x1.25/ 16 | 22
50 9 |21.5|47 |40 |130]| 60 |146|110|130| 92|24| 48 124 | 200 | 300|36| 48 86 124 [174|66 | 5 |6 4 8 |[IM10x1.5[ 20 | 24
63 13 [28 |58 | 50 [130| 70 [158|124[142[110|28| 52 128 | 200 [300|38| 50 88 124 {174|80 | 5 |6 4 | 8 IM10x 1.5/ 20 | 24
MGPL (ki7F)
MGPM (;2zh4hi&) A, DB, E R~ (mm) MGPA (F#5EBk§h%) A, DB, E R~ (mm)
(e A E fRE A E
(mm) 50 st B0 200st  |DB[ sost E508 200 st (mm) | 50t @w0s | @i | 200st |DB[TB0st [ mos | exws | 200st
R 200U T Yk EUNN 200tET Yk BT 100stbF | 200stuF [ PAE S | 100stbF | 200stEuT [ BAE
32 75 93.5 129.5 20 15.5 34 70 32 79.5 96.5 | 116.5 |138.5 | 16| 20 37 57 79
40 75 93.5 129.5 20 9 275 63.5 40 79.5 96.5 | 116.5 |138.5 [16| 13.5 30.5 50.5 72,5
50 88.5 109.5 150.5 25 16.5 375 78.5 50 91.5 | 1125 [ 1325 [159.5 |20 | 195 40.5 60.5 87.5
63 88.5 109.5 150.5 25 11.5 32.5 73.5 63 915 | 1125 | 1325 [159.5 |20 | 145 8585 55.5 82.5

1-1



FHATESHSE: MGPZRJ
SMERTE ()

6 NS 10 - -
B0 H7 7% XX &R~ T RERE
Z WA
wB ‘ |< .
o —®
— | L 5 |
©
) S ‘ ‘
c |d
~
Por W aaY
OO e
= o e
. S| (m)
# 3= Tz
X > E: ‘ (mm) a|bjc|dje]|l
H
=, = 80 13.3/20.3|12 8 [22.5
= 5 o 100 [15.3[23.3[13.5] 10 |30
b L _ _ _
[/
XX
4xYY YL
4 x NN J#7L 4 x g0OA @}L 4 x MM 3% ML
XX Z WA /4 x gOB LK OL L XX #
| —_—
o\ g Ty
/
© © S
1 f ﬂ
8l (A < g H | <
=3 O CRNSrr s Bk
- =
= 2 1 =
o 2\';... e
00 aET—L
[11] ™ 5 /I
} a _@_ ) 1
- ° ! &h f
Q GC NexP 2xP /"PB B2
26 Hr i 10 S GA GB (%) JC
- ®1
PA + (i JB[|_JA 00 10
FA FB| C+17f J K
B + 17#¢ E G
A+ 17
MGPM, MGPL, MGPA #[ER~& (mm)
[ Z R P P
PR AE TR B | C |DA|FA|FB| G |GA|GB|GC| H |[HA| J [JA|JB|JC| K | L MM ML NN OA|OB|OL
() [PREATEE (mm) Nil [ TN [TF
80 12255&55%715%%000 96.5/56.5| 22 | 16 | 24 | 91.5[19 [16.5(14.5[202 [M12|45.5| 38 | 7.5| 15 | 46 | 54 |M12x1.75| 25 [M12x1.75[10.6/17.5| 3 |Rc3/8|NPT3/8|G3/8
100 250,300,350.400 [116 |66 | 26 | 19 | 31 [1115]22.5(20.5/18 |240 |M14|55.5| 45 [10.5] 10 | 56 | 62 |M14x2.0| 31 |[M14x2.012.5/20 | 8 |Rc3/8|NPT3/8|G3/8
4R WA wB
(mm) PA|PB|PW| Q | R | S | T | U VA|VB[ s [@iss | @iios | @i20s | 300st | 258t | @ibs | @ooos | @iaws | aoost | X YY YL| Z
E st o) 51 e ) il St
HUUF | 100suT | 200suilF | 300sur | BLE HULF | 100suilF | 200suiulF | 300ssur | BLE
80 [14.5|25.5| 74 | 52 |174| 75 [198|156|180|140| 28 52 128 200 300 42 54 92 128 178 [100|M12x1.75| 24 | 28
100 [17.5/32.5| 89 | 64 [210]| 90 |236(188|210|166| 48 72 148 220 320 35 47 85 121 171 [124| M14x2.0 | 28 | 11
MGPL (SRE7R)
MGPM (i&zh%h%) A, DB, E R~f (mm) MGPA (S¥EEkEh&) A, DB, E R~t (mm)
iR A E LA A E
8 290 st Sl st 150 st S st 1129 st o0 st Sl Bl izl i S
(mm) 50t w50 200st |DB[ 508t s 200 st (mm) 255t | @5 | @s0st 200st |DB[ 255 Wi | w0 200 st
U F 200 st Yk ECY 200 staibd ¥ ULk RUF S0SRUT | 200 LT ULk BT 50stebF | 200 stabAF ULk
80 104.5 1315 180.5 |30 8 35 84 80 1045 | 1285 | 1585 | 1915 | 25 8 32 62 95
100 126.5 151.5 190.5 |36 10.5 35.5 74.5 100 119.5 | 1455 | 1785 | 201.5 | 30 3.5 29.5 62.5 85.5

1-1



